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le
vecteur
et
ses
nombreux
alias

D\Db/D\Ab/A
de
vecteur
V
(-1,-1,-5,+1)
si
l'on
part
de
D
Soprano.
Si
l'on
part
de
Db
Sop,
la
série

Db\Ab/Db/D\A


sera
de
vecteur


V
(-5,+5,+1,-5).
Autre
possibilité,
partons
cette
fois
de
A
avec
les
notes:
A/Db\Ab/D\Db
le
vecteur
sera
V
(+4,-5,+6,-1).
Dans
les
deux
premiers
cas
nous
avons
un
vecteur
non
signé
V
(5,1).
Dans
le
dernier
cas,
un
vecteur
non
signé
à
4
éléments
V
(1,4,5,6).
Etonnant,
non
?
C'est
la
magie
de
la
permutation
dans
le
contrepoint
...

Conclusion

Improviser/composer
suppose
un
vecteur
(1)
Selon
l'ordre
que
l'on
assigne
aux
notes
un

vecteur
peut
prendre
un
autre
nom
même
si
les
notes

utilisées
sont
idéntiques.
Chaque
vecteur
possède
donc
nécessairement


plusieurs

alias.

reproduction:
morceau
d'ardoise
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